
        

 

        

 

 

 

 

         

 

 

   

 

 

 

                 

    

 

 

 

 

 

 

 

(A) 

(D) 

I -
- In ( 1 + 4.r)2 + C 
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----+C 
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(B) .!....j1 +4x2 +C 
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1 
(C) - ? + C 

8(1 + 4x-) 

Name: ___________________________ AP Calc BC, Integration Practice 6.1 – 6.3 

Find each integral 
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Solve each initial value problem: 
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f (✓r -ir dt = 

(A) 
I 

(B) 
l I 

(C) 
,2 

t - 2+ -+ C - - 2t --+C - +lnltl+C 
1 3 1 2 

(D) 
,2 ,2 I 
- - 2t + lnltl + C (E) --l-"""7 +C 
2 2 r 

f x~in ( 5x fb= 

(Al - xcos(sx}+sin(5x) +C (BJ - %~os(Sx) + 
2

1

5
sin(5x) + C (C) - ico~(Sx) + ~~in(Sx) + C 

(D) ~cos(Sx} + _!_sin(Sx) +C (Ei 5xcos(5x) - sin(5x)+C 
5 25 

J secYl x tan x dx = 

(A) ~sec512 x + C 
5 

(D) 
2 
-sec:in x + C 
3 

(B) (C) sec.l/2 x + C 

(E) none of these 

Assume f(:r:) is a differentiable function. Which of t he following expressions is equal to 

A. :r:
3 f(:r.) - J ~x 4 /(:r.) d:r. 

1 
B. -x~f(x)+C 

4 

C. ::r
3 J"(x) - J 3x2 f(x) dx 

D. x 3 J(x) - J 3x2 f(x) dx 

E. 3x2 f(x) - J x 3 f(x) dx 

Jf J x2 cosxd--,; = h(x ) - J 2xsinxdx , then h(x) = 

(A) 2sinx+2xcosx + C (B) .,:2 sin x + C (C) 2xcosx - x2 sinx + C 

(D) 4cosx-2xsinx+C (E) (2 - x2 )cosx - 4sinx+C 
' , 

10. 

11. 

12. 

13. 

14. 


